YPABHEHWA C MOAYJIEM

1

Peiunts ypasHeHMf:

1.112. |2x-3| =17. 1.113. |2x + 3] = 5.
1.114. |x¥*-x-5| =1. 1.115. |x*+5x+ 6] =2.
1.116. |x*=x—-1| =1. 1.117. x*— |x] =2 =0.
1.118. | x| — 2] =2. 1.119. ||x| +2| = 2.
1.120. |Ix| +2| =1. 1.121. |x* - 4x| = 4.

1.122. 2(x - 1)’+ [x—1] —1=0.
1.123. (x+2)*=2|x+2| + 3.

1.125. x |x| +8x-7=0.
1.126. |x—-2|x—6x+8=0.

1.127. ¥ —s5x 1221 _ 140
xX—2

1.128. ¥+ 2x+3 2= _o
x—1
Ix*—x—-2] _
1129 S = =3,
1.130. x*— |x — %l = 0.

1.131. 1xX*-3|x| + 1] =1.
1.132. x¥* =2 |x—-1] = 2.

2
1133 X ¥ -6 _ 5
Ix — 2|
3 1.136. |x + 2| =2(3 - x).
LI37. 13x = 1] = .——.

1.138. |x + 3| =x*+x - 6.
1.139. x*— 4 |x+ 1| +5x+4=0.
1.140. |x*+x—-3] = x.

1.141. |x*+x—1] =2x — 1.
1.142. |5x + 2| =3 - 3x.
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1.143. |x*-2x| =3 - 2x.
1.145. |x*— x| =x + 4.
1.146. |x — 3| = — x* + 4x — 3.
1.147. xX*+4|x-3] -7x+11=0.
1.148. |x|x-—l|—2x|=x2—2.
1.149. |x - Ix— |x—111] =%.

4 1,182, |x—2| + I1x—4]| =3.
1.153. |x] + |x— 6] =6.
1.154. |x+2| - |x-3]| =8.
1.155. [x—-2]| —-313-x| +x=0.
1.156. |x*—-9| + |x = 3| =6.
1.157. |x*=5x+4| + |x*=5x+6| =2.
1.158. |x| —2Iix+1]|+3|x+2]| =0.
1.159. |x+ 1| + |x — 5] =20.
1.160. |[x+ 5] + |x—8| =13.
1.161. |x| — |x— 2] = 2.
1.162. |7x—-12| = |7x—-11]| = 1.
1.163. |x| + |x—-2|+2|x- 5| =6.
1.164. |x| + |3x+2|+|2x—-1| =3.
1.165. |2x+2| + |x—=5] +1=0.
1.166. |4 — x| + |2x— 2| =5 — 2x.
1.167. |x+ 3| - |5—-2x| =2 — 3.
1.168. |x—3| +2|x+ 1| =4.
1.169. |x -1l +I1x-2]l=|x—-3| + 4.
1.170. |x2—4x+3| + |x2—5x+6| = 1.
1171, |x*-9] + |x-2| = 5.
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5

1.172. |x* - 4| = |x*=9] =5

1.173. x |x| +2 |x - 2| = 3.

1.174. |x*=3x+2| + |x*=5x + 6| = 2.
1.175. |Ix+ 1] = |x=3|| = |x].

1.176. |1x+ 2] — [x—6]] = |xI.

2
L1772 —4x1 43
X+ |x— 5|
.112. S mm -2. 1.113. 1 wm —-4. 1.114. -2, wm 3, Win
12”. 1.115. -1 mm -4, 1.116. -1, mm 0, wm 1, wm 2.

1.117. £2. 1.118. 4, wm —4, am 0. 1.119. 0. 1.120. Her pe-

menmit, 1.121. 2 wim 2 + V8. 1.122. % wn g 1.123. 1 wm -S.

1.125. — 4 +v23. 1.126. —2+2V3 mwm 4+ 2vV2. 1.127. = 7.

1.128. -3. 1.129. 5. 1.130. % w1H -?l-l,fﬁ 1.131. 0, wim =1,
-7+ v

wm +2, wm *3. 1.132. —1—-V5 wm 2. 1.133. ~7_2—98
1.136. . 1.137. —. 1.138. +3. 1.139. -8 wam —1, wiu 0. 1.140.
\/B_HJml. 1.141._3; wim 1. 1.142. - m—%llﬁ.
1 wm — V3, 1.144. 2 wmm ——. 1.145. 2 win — V4, 1.146. 2
wm 3. 1.147. H--ﬂz—l‘?—ﬁu‘mB—tzL3 1.148. + 2. 1.149. -émm
1 3 9

5 B 5 1.152. , WM . 1.153. 0<sx<6. 1.154. x = 3.

—1+V

1.155. L wmm 7. 1.156. 2 wm -3, wm —— Y72 1187,

2
1<x< 2 w3 < x < 4, 1.158. —2. 1.159. - 8 wim 12. 1.160.

_5<x<8. 1161. x =2 1.162. x < 1—71 1.163. Her pemermi.
1.164. -1 wm Z. 1.165. Her pemenmi. 1.166. 1. 1.167. =

3 3
1.168. 1. 1.169. = 4. 1.170. 2 wm >, wm 2V 1.171. -3

2 4
—"1;'@ 1.172. x<—3 wm x=3. 1.173.

—1-v2 wm 1. 1.174. 1 wm 2 1175—4m§,m2m
4 2 1
3,m4,m8. 1.177. _S’WZ’

w2,

. 1.176. -8, man WA 2.

3
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0 Packpuite Mopyns:

1.1. @) |x—-3|; 6 11-vV2|;
e) |1V3+V3|; 2) IV§ -2|;
» 1x%; e Ix*+1|;
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x) xz-—x+%|; 3 122+ 2x +2|;
x2

u) x-—-z-ll; ) |—x*+3x - 4.
Peiunts ypasHeHns:
1.2, IxX*—4x+3]=-2. 13. |x*—6x-7|=V3 - 2.
14. |x] =-x*-1. LS. Ix] = - (x-2)>~
1.6. |x|=—|x+1]. 1.7. xX*+ 4 x| +1=0.

1 1
1.8. le——?. 1.9.x|x|——x.
1.10. % =-x2 LIL ¥+ x+1=— |xl.

l.l2.2.x—xz—l=|x|. 1.13. Ix]| —x=-1.
1.14. |x| —x=1-vV2. L1158 x—|x]|=|x+1].

1.16. |x| = — x% 1.17. |x=2] == (2-x)°
1.18. |x—3| =6x—x*—9.
1.19. |x+3| +(x+3)°=0.

1.20. |x + 2| = — |x* - 4].

1.21.x-—|x|=x2. 1.22. |x| = x.

1.23. |2x—3| =2x—-3. 1.24. |[x¥*—-1]=1-x%
1 _ 1 Ixl _

1.25. x-l| = 1= 1.26. L =L

x—-3 _ 1

1.27. 3=x -1 1.28. |x—-2| =12 - xI.
1 _ 1

s, |15 = |54,

Pewunts HepaseHcTsa:

1.30. |x|>—1. 1.31. |x*-3x-2|<—-1.

1 1
1.32. x+3 2x-35

>-2.






